
1SSC CGL 2025 | SET - 28KD PUBLICATION Contact us:- 9555108888, 9555208888

K
D
 P

U
B
LI

C
A
T
IO

N

1. (a) N+ P– Q+

L+ M+ G

Bro

Brother’s wife

Bro Son

Sister

Father

2. (d) 'Red Planet' is the
nickname of 'Mars'.
Similarly,
'Gas giant' is the nickname
of 'Jupiter'.

3. (a) 133 + 49 – 16  2 × 34
After interchanging the
sign

 133 – 49 + 16  2 × 34 =
356

 133 – 49 + 8 × 34 = 356
 133 – 49 + 272 = 356
 405 – 49 = 356
 356 = 356 (L.H.S = R.H.S)

4. (a) 2, 3, 4, 1, 5

5. (b) L  E  F  T

V  G  F  N
+2 +2+1+1

 D  E  S  K

M  T  F  F
+2 +2+1+1

Similarly,

H  E  L  P

R  M F  J
+2 +2+1+1

6. (c) R        U                   Y

D        G                   K

P         S        W

B         E        I

+12

+12

+12 +12

+12

+12 +12

+12

+12

7. (d)
8. (a) 6  48 + 12 × 9 – 7 = 35

After interchanging the
sign

 6 + 48  12 × 9 – 7 = 35
 6 + 4 × 9 – 7 = 35
 6 + 36 – 7 = 35
 42 – 7 = 35
 35 = 35 (L.H.S = R.H.S)

9. (a) 139 : 228
 228 – 139 = 89

122 : 211
 211 – 122 = 89

Similarly,
2 : x

 x – 2 = 89
 x = 91

10. (d)
H   F   M

–2

+5

D   B    I

–2

+5

S   Q   X

–2

+5

J    G  O

–3

Odd

+5

11. (a) H   J    L    I 

O   Q    S   P 

+7 +7 +7 +7

B   D    F   C 

I   K    M   J 

+7 +7 +7 +7

Similarly,

N   P    R   O 

U   W   Y   V 

+7 +7 +7 +7

12. (a) 0   6   24   60   120   210   336

+6

+6 +6 +6 +6

+18

+18+12 +24 +30 +36

+36 +60 +90 +126

13. (a) A        N                   K

X         L                   J

U         J        I

O         F        G

R         G        H

–3

–3

–3

–3 –3

–2

–1

–2 –1

–1

–1

–1

14. (b) Q   U    I   R    K   Y

T   C     L   Z   N   G

+3 +8 +3 +3+8 +8

M  U    Z   H    I   K

P   C    C   P    L   S

+3 +8 +3 +3+8 +8

Similarly,

F   R    O   W   Z   Y

 I   Z    R   E   C   G

+3 +8 +3 +3+8 +8

15. (a)

Bushes

Leaves

GreenTree

16. (d)
17. (c)
18. (a)
19. (d) (75, 25, 28)

= 
75

25
 + 25

= 3 + 25 = 28 (Last term)
(136, 34, 38)

= 
136

34
 + 34

= 4 + 34 = 38 (Last term)
Similarly,
(105, 35, 38)

= 
105

35
 + 35

= 3 + 35  = 38 (Last term)
20. (d) (58, 29, 174)

= (58 + 29) × 2
= 87 × 2 = 174 (Last term)
(62, 33, 190)
= (62 + 33) × 2
= 95 × 2 = 190 (Last term)
Similarly,
(74, 31, 210)
= (74 + 31) × 2
= 105 × 2 = 210 (Last term)

21. (a) (15, 16, 155)
 = (15 + 16) × 5
= 31 × 5 = 155 (Last term)
(12, 13, 125)
= (12 + 13) × 5
= 25 × 5 = 125 (last term)
Similarly,
(18, 12, 150)
= (18 + 12) × 5
= 30 × 5 = 150 (Last term)

22. (c)

23. (a)

Blankets

Bedsheet

Curtain
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24. (b) 1 6

4 3

2 5

Opposite

25. (c) 16 : 1024
 16 × 2 = 32
 32 × 32 = 1024

14 : 784
 14 × 2 = 28
 28 × 28 = 784

18 : 1620 (Odd)
 18 × 2 = 36
 36 × 36  1620

12 : 576
 12 × 2 = 24
 24 × 24 = 576

B-GENERAL AWARENESS
26. (a) Fire altars indicating

ritualistic or possibly
Vedic-like fire worship have
been found at Kalibangan
(Rajasthan) and Lothal
(Gujarat). These suggest
religious or ceremonial
activities involving fire./

vfXuosfn;k¡ tks /kfeZd ;k laHkor%
oSfnd çdkj dh vfXu iwtk dk ladsr
nsrh gSa] os dkyhcaxu (jktLFkku) vkSj
yksFky (xqtjkr) esa ikbZ xbZ FkhaA ;g
/kfeZd ;k vuq"Bkfud xfrfof/;ksa dks
n'kkZrk gSA

27. (b) Humayun was defeated by
Sher Shah Suri in two
major battles: the Battle of
Chausa (1539) and the
Battle of Kannauj (1540),
leading to the
establishment of the Sur

Empire./gqek;wa dks 'ksj'kkg lwjh
ls nks eq[; ;q¼ksa esa gkj dk lkeuk
djuk iM+k% pkSlk dk ;q¼ (1539)
vkSj dUukSt dk ;q¼ (1540)] ftlds
ckn 'ksj'kkg us lwj lkezkT; dh LFkkiuk
dhA

28. (d) The Servants of India
Society was founded by
Gopal Krishna Gokhale in
1905, after the formation of
the Indian National
Congress (1885). Hence, it
is not a pre-Congress

institution./loZsUV~l vkWiQ bafM;k
lkslkbVh dh LFkkiuk xksiky Ñ".k

xks•ys us 1905 esa dh Fkh] tks Hkkjrh;
jk"Vªh; dkaxzsl (1885) ds xBu ds
ckn dh ckr gSA blfy, ;g çh&dkaxzsl
laLFkk ugha FkhA

29. (d) The concept of Total
Revolution (Sampoorna
Kranti) was given by
Jayaprakash Narayan
during the 1970s, not by
Mahatma Gandhi. Gandhi
promoted ideals like non-
violence, Satyagraha, and
Sarvodaya (welfare of all)./

lEiw.kZ Økafr dk fopkj t;çdk'k
ukjk;.k us 1970 ds n'kd esa fn;k
Fkk] ;g egkRek xka/h dk ugha FkkA
xka/hth us vfgalk] lR;kxzg] vkSj
lokZsn; tSls vkn'kks± dks c<+kok fn;kA

30. (c) The Nebular Hypothesis
states that the solar system
formed from a rotating
cloud of gas and dust
(nebula) which gradually
collapsed under gravity,
forming the Sun and the

planets./uhgkfjdk ifjdYiuk
crkrk gS fd lkSjeaMy dh mRifÙk
,d ?kwerh gqbZ xSl vkSj /wy dh
ckny (uhgkfjdk) ls gqbZ Fkh] tks
xq#Rokd"kZ.k ds dkj.k fldqM+dj lw;Z
vkSj xzgksa esa cny x;kA

31. (c) Sugarcane is the most
extensively cultivated
commercial crop in India.
It is grown in large
quantities, especially in
states like Uttar Pradesh,
Maharashtra, Karnataka,
and Tamil Nadu. It is used
for sugar, jaggery (gur), and

ethanol production./xUuk
Hkkjr dh lcls vf/d mxkbZ tkus
okyh O;kolkf;d iQly gSA bls fo'ks"k
:i ls mÙkj çns'k] egkjk"Vª] dukZVd
vkSj rfeyukMq tSls jkT;ksa esa cM+s
iSekus ij mxk;k tkrk gSA ;g phuh]
xqM+ vkSj ,FksukWy cukus ds fy, mi;ksx
esa yk;k tkrk gSA

32. (c) Green hydrogen is
produced using electricity
from renewable sources
like solar, wind, or

hydropower, without
emitting carbon dioxide./

xzhu gkbMªkstu dk mRiknu lkSj] iou
;k tyfo|qr tSlh uohdj.kh; ÅtkZ
ls fd;k tkrk gS] ftlls dksbZ dkcZu
MkbvkWDlkbM ugha fudyrkA

33. (a) The office of the Governor
in India was adopted from
the Government of India
Act, 1935. This Act
introduced provincial
autonomy and made the
Governor the head of the

province./Hkkjr esa jkT;iky dk
in Hkkjr ljdkj vf/fu;e] 1935
ls fy;k x;k FkkA bl vf/fu;e us
çkarh; Lok;Ùkrk dh 'kq#vkr dh vkSj
jkT;iky dks çkar dk çeq• cuk;kA

34. (d) Article 35 of the Indian
Constitution empowers the
Parliament to make laws
and prescribe punishments
for acts that are declared as
offences under Part III
(Fundamental Rights). This
ensures uniformity across
India in the enforcement of
certain fundamental

rights./vuqPNsn 35 laln dks ;g
vf/dkj nsrk gS fd og Hkkx III

(ewy vf/dkjksa) ds varxZr vijkèk
?kksf"kr fd, x, dk;ks± ds fy, dkuwu
cuk, vkSj muds fy, naM fu/kZfjr
djsA ;g iwjs Hkkjr esa ,d:irk
lqfuf'pr djrk gSA

35. (b) "Link West Policy" focuses
on enhancing India's
diplomatic, energy, trade,
and security relations with

West Asia./¶fyad osLV uhfr¸
Hkkjr dh if'pe ,f'k;k ds lkFk
dwVuhfrd] ÅtkZ] O;kikj vkSj lqj{kk
laca/ksa dks c<+kus ij dsafær gSA

36. (a) The Economic Survey is
released every year by the
Ministry of Finance,
usually a day before the
Union Budget, providing
data on economic
indicators and addressing
key issues like poverty,
unemployment, and
inflation.
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vkfFkZd loZs{k.k gj lky foÙk ea=kky;
}kjk çLrqr fd;k tkrk gS] vkerkSj ij
dsaæh; ctV ls ,d fnu igysA ;g
vkfFkZd ladsrdksa ij MsVk çnku djrk
gS vkSj xjhch] csjkstxkjh] eqækLiQhfr
tSls eqíksa dks lacksf/r djrk gSA

37. (c) Gravitational force is
inversely proportional to
the square of the distance,

i.e.,/xq#Rokd"kZ.k cy nwjh ds oxZ
ds O;qRØekuqikrh gksrk gS] vFkkZr~

F  2

1

r

 So, if the distance r is

halved, then/blfy, ;fn nwjh
dks vk/k dj fn;k tk,] rks

F' = 2

1

r

2

 
  

 = 2

1

r

4

 = 2

4

r

 Thus, the gravitational
force becomes four times

the original./vr% xq#Rokd"kZ.k
cy pkj xquk gks tkrk gS

38. (b) Nikola Tesla developed the
modern Alternating
Current (AC) system in the
late 19th century. His
innovations included the
AC generator, transformer,
and induction motor, which
enabled efficient generation
and long-distance
transmission of electricity
- forming the basis of

today's power grids./fudksyk
VsLyk us 19oha 'krkCnh ds var esa
vk/qfud çR;korhZ /kjk (AC) ç.kkyh
fodflr dhA mUgksaus ,lh tujsVj]
VªkaliQkWeZj vkSj baMD'ku eksVj tSlh
rduhdksa dks fodflr fd;k] ftlls
fctyh dk yach nwjh rd çHkkoh
lapj.k laHko gqvk µ vkSj vkt dh
fo|qr vkiwfrZ ç.kkfy;ksa dh uhao j•hA

39. (b) The azimuthal quantum
number (l) determines the
shape of the orbital (like s,
p, d, f).  The principal
quantum number (n)
determines the energy level
or shell, magnetic quantum

number (m) determines
orientation, and spin
quantum number (s)
determines electron spin

direction./vktheqFky DokaVe
la[;k (l) ,d d{k dh vkÑfr (tSls
s, p, d, f) dks fu/kZfjr djrh gSA
çeq• DokaVe la[;k (n) ÅtkZ Lrj
crkrh gS] pqEcdh; DokaVe la[;k
(m) d{k dh fn'kk crkrh gS] vkSj
fLiu DokaVe la[;k (s) bysDVªkWu ds
?kw.kZu dh fn'kk dks n'kkZrh gSA

40. (c) In anaphase, the
centromeres split, and the
sister chromatids (now
individual chromosomes)
are pulled toward opposite
poles by spindle fibres./

,sukiQst esa lsaVªkseh;j foHkkftr gks
tkrs gSa vkSj cgu ØkseSfVM èkzqoksa dh
vksj f•apus yxrs gSa] ftlls os
vyx&vyx xq.klw=k cu tkrs gSaA

41. (a) Gaseous exchange of
oxygen and carbon dioxide
takes place in the alveoli,
the tiny air sacs in the
lungs surrounded by

capillaries./vkWDlhtu vkSj dkcZu
MkbvkWDlkbM dk xSlh; fofue;
,fYo;ksyh esa gksrk gS] tks iQsiQM+ksa esa
ekStwn lw{e ok;q FkSyh gksrh gSa vkSj
dksf'kdkvksa ls f?kjh gksrh gSaA

42. (c) Two-factor authentication
adds an extra layer of
security by requiring both
a password and a
verification code, protecting
your account even if your
password is

compromised./nk s&pj.k h;
çek.khdj.k ,d vfrfjDr lqj{kk ijr
çnku djrk gS] ftlesa ikloMZ ds
lkFk&lkFk ,d lR;kiu dksM Hkh
vko';d gksrk gSA ;g vkids •krs
dks lqjf{kr j•rk gS] Hkys gh ikloMZ
pksjh gks tk,A

43. (c) Squash has been proposed
several times but is not yet
part of the Olympic

programme./LDoS'k dks dbZ ckj
çLrkfor fd;k x;k gS] ysfdu ;g

vHkh rd vksyafid dk;ZØe esa 'kkfey
ugha gSA

44. (a) NABARD was established
in 1982 to finance
agriculture and rural
development in India./

NABARD dh LFkkiuk 1982 esa
Hkkjr esa Ñf"k vkSj xzkeh.k fodkl ds
fy, foÙkh; lgk;rk nsus gsrq dh xbZ
FkhA

45. (b) Amarnath Temple is one of
the holiest shrines in
Hinduism, dedicated to
Lord Shiva, where a
naturally occurring ice
lingam forms every year./

vejukFk eafnj fganw /eZ ds lcls
ifo=k rhFkZLFkyksa esa ls ,d gS] tks
Hkxoku f'ko dks lefiZr gS] tgk¡ gj
o"kZ çkÑfrd :i ls fge ls cuk
f'kofyax curk gSA

46. (a) Ghoomar is a traditional
folk dance of Rajasthan,
commonly performed by
women during festivals like

Teej and Gangaur./?k wej
jktLFkku dk ikjaifjd yksd u`R; gS]
tks rht vkSj x.kxkSj tSls R;ksgkjksa ij
efgyk,a djrh gSaA

47. (b) The PM E-Drive scheme
was launched in 2024 to
promote electric vehicle
adoption through subsidies
and infrastructure

development./ih,e bZ&Mªkbo
;kstuk dks 2024 esa bysfDVªd okgu
viukus dks c<+kok nsus ds fy, lfClMh
vkSj cqfu;knh <kaps ds fodkl ds
ekè;e ls 'kq: fd;k x;kA

48. (c) The scheme targets 100
backward districts to
improve irrigation, storage,
and credit access & it aims
to enhance agricultural
productivity, diversify
crops, and improve

infrastructure./;g ;k stuk
flapkbZ] HkaMkj.k vkSj ½.k dh igqap
esa lq/kj ds fy, 100 fiNM+s ftyksa
dks yf{kr djrh gSA bldk mís';
Ñf"k mRikndrk c<+kuk] iQlyksa esa
fofo/rk ykuk vkSj cqfu;knh <kaps esa
lq/kj djuk gSA
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49. (c) The scheme focuses on

identifying fake, duplicate,

or outdated voters,

especially post-2003

entries, to ensure only

genuine voters remain on

the list./;g ;kstuk iQthZ] nksgjs

;k iqjkus ernkrkvksa dh igpku ij

dsafær gS] fo'ks"k :i ls 2003 ds

ckn ds ukeks a dh] rkfd dsoy

okLrfod ernkrk lwph esa jgsaA
50. (a) The United States overtook

China as India's top trading

partner in 2024-25 due to

increased exports./la;qDr jkT;

vesfjdk us 2024&25 esa c<+s gq,

fu;kZr ds dkj.k phu dks ihNs NksM+dj

Hkkjr dk 'kh"kZ O;kikfjd Hkkxhnkj cu

x;kA

C - QUANTITATIVE APTITUDE

51. (b) 2 years 1200

4 years  1600

Interest of 2 years

1600~1200 = 400

Principal =1200 - 400 - 800

Rate = 
400 / 2

100
800



= 25%

52. (b) In ADB and  CDB

Now,

 ADC +ADB + CDB =

360o

 150o + 2× CDB = 360

 CDB = 210/2 = 1050

53. (d) x = 2-21/3 + 22/3

x - 2=22/3  – 21/3

Cubing both sides

(x-2)3 = (22/3 – 21/3 )3

x3 – 8 – 3 × 2 × x(x–2) = 22 –

2 – 3× 22/3 × 21/3 (22/3 – 21/3)

 x3 – 8– 6x2 +12x = 2 – 6 (x –

2)

 x3 – 8 – 6x2 +12x = 2 – 6x +

12

 x3 – 6x2 + 18x = 14 + 8 = 22

54. (b) (a+b+c) (a2 + b2 + c2 - ab -

bc - ca) = a2 +b3 + c3 - 3abc

 5(a2 + b2 + c2 - ab - bc - ca)=

85 – (3 ×25)

a²+ b2 + c2 - ab - bc - ca = 2

55. (c) ATQ,

C.P = S.P × 
60

100

C.P
S.P

=
3
5

2

Profit percentage = 
2

3
×100

= 66.66%

56. (d) If a sin + b cos = 2 2a  + b

 tan = 
a
b

, cot = 
b
a

Where a,b & c are

Pythagorean triples

Now,

11 sin + 60 cos = 61

11, 60, and 61 are triplet.

=  660 tan  + cot 

= 
11 60

660
60 11

 
  

= 
121 3600

660
600

 
  

= 3721  = 61

57. (c) a3 – b3 = (a – b) (a2 + b2 + ab)

Comparing the equation

given in the question.

= 3.25 – 1.75

= 1.5

58. (a)

96

Ratul= 24

Amal = 32

4

3

Together do in 1 day = 7

units

8 days = 8 × 7 = 56 units

Remaining = 96 – 56 = 40

units

Now,

Ratul does the work in 
40

4

= 10 days

59.(b) ATQ,

Working together

Worker effici.  time  work

n 1 2x/3 2nx/3

1 worker quite everyday 1 x w

W = n+(n –1) +(n – 2)+......+1

ATQ,

n= x

Equating work in Both side


2

3
nx  =  n

 1
2

n 


2

3
x = 

 1
2

n 


2

3
n = 

 1
2

n 

 n = 3

60.(b)

xMaths x + 20 2  + 30x
Science

ATQ,

x + 20 + x +2x + 30 + 0 =

110

 4x + 50 = 110

 x = 15

 Students who study only

one subjects = x + 20 + 2x +

30 = 3x + 50 = 95

61. (a)Applying Alligation-

A
5 65

7 91


8 56

13 91


B

9 63

13 91


7 : 2

 Required ratio = 7 : 2
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62. (b)Let the income of x,y be 4,

3  respectively, and

expenses of  x,y be 3 , 2

respectively.

 Saving of A = 4 – 3

 Saving of B = 3 – 2

ATQ,

 4 – 3  = 3 – 2

 =

Now,

4 – 3= 4 – 3 = =

` 6000

 Total income = 7  =

` 42000

63. (b)PQ = QR = RS = 
PS

3
= 

6 2

3


=

4cm

P
R S

U

T

Q

V

Perimeter of PTS = 
22

7
× 6 =

3
1

7
× 6 =

6
18

7
cm

Perimeter of PUQ = 
22

7
 × 2 =

3
1

7
 × 2 = 6

2

7
cm

Perimeter of QVS =
22

7
× 4 =

3
1

7
 × 4 = 12

4

7

 Required perimeter = 
6

18
7

 +

6
2

7
 + 12

4

7

= 18 + 6 + 12 +
12

7
= 37

5

7
cm

64. (a) For 1st Article : For 2nd article

Profit = 20% Loss = 10%

for 1st Article

So, C.P : S.P = 5 : 6

for 2nd Article

So, C.P : S.P = 10 : 9

In Question S.P of both

article are same so, ratio of

1st article & ratio of c.p of

s.p for 2nd article

for 1st Article

C.P : S.P = 15 : 18

for 2nd Article

C.P : S.P = 20 : 18

So, overall CP and S.P

C.P = 35 & S.P = 36

Overall profit = 
1

100
35



6
2 %

7


65. (d)Total employees = 40

According to question,

Total salary of all employees

can be calculated as

(5×2,50,000)+(15×80,000)

+(20×45,000) = 33,50,000

 Average Salary =

             
33,50,000

40
= Rs. 83,750

66. (a) 16y2 – K = 
3 3

4y 4y –
2 2

  
    
   

16y2 – K = 16y2 – 
9

4

9
K

4


67. (b) According to question,

     

x + y = 15

x – y 3

x 9

y 6







   4
4

9

5

6

3 3

 Area of trapezium =

1

2
(sum of parallel sides) × Dis-

tance between the parallel sides

= 
1

2
× 15 × 4 = 30 cm2

68. (c) A + B  30

B + C  45

A + B + C  25





15
10
18

450

So, efficiency of B is 7

So, Time taken by  B to do

the job alone 
450

days
7



69. (b)5% = 
1

20
, 4% =

1

25

1st year - 20 : 21

2nd year- 25 : 24

             125 : 126

ATQ,

126 units = 55,12,248

125 units = 
5512248

126
×125

                 = 43748×125

                 = 54,68,500

70. (a) Let the side of square = a

length (l) of rectangle = a+10

breadth(b) of rectangle = a–8

Area of rectangle = Area of

square

(a+10) (a–8) = a2

a2 + 2a – 80 = a2

2a = 80

a = 40

Perimeter of rectangle

= 2[a+10+a –8]

= 2[2a+2] = 2[2×40+2]

= 2×82 = 164

71. (d)Total work done A, B, C =

(5+6+9)×18 = 20×18 = 360

B can alone 25% of that work

= 
360

6
×

25

100
= 15

72. (d)Let the no. of cones = x

Volume of cylinder

= x × volume of 1 cone

2
1 1r h = x× 

1

3
 2

2 2r h

3×(3)2×4 = x ×(1)2 ×2

27 ×2 = x

x = 54
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73. (b)p = 3 9

p = 27 = 3 3

6, p , 4, x are in proportional

So, 6, 3 3 , 4 , x

6

3 3
=

4

x

x = 2 3

74. (d)14–20×[7–{18÷2 of 3–(15 –25 ÷

5 ×4)}]

= 14 – 20×[7–{18÷6–(15 – 5×4)]

= 14 – 20×[7–{3–(15– 5×4)]

= 14 – 20×[7–{3–(15–20)}]

= 14 – 20×[7–{3+5}]

= 14 – 20×(7–8)

= 14 – 20×(–1)

= 14 + 20 = 34

75. (c) (2827.06 – CP)= (CP – 2230)

× 
114

100

2827.06 × 50 – 50 CP = 57CP

– 127110

141353.00 + 127110 = (50+57)

CP

107 CP = 268463

CP = 
268463

107

CP = 2509

% gain of 14% S.P will be

= 2509 × 
114

100

= 
286026

100
= 2860.26

D-ENGLISH COMPREHENSION

76. (d) I will be drive into town

later on. It should be

“driving”, not “drive”

77. (b) Some” is used in positive

statements to indicate an

unspecified quantity. “Any”

is usually used in negative

or interrogative sentences.

“Few” is used with

countable nouns

78. (d) The correct preposition is

“with” when referring to the

tool used.

79. (b) Cypher (xqIr fyfi) means a

secret or coded way of

writing.

Emblem (izrhd) means a

symbol representing

something

Symbol (fpUg) is a mark or

sign — too general

Puzzle (ig sy h)  means

something diff icult to

understand

80. (c) Cat’s pajamas (cg q r

c f< + ; k @ ' k k un k j)  means

something or someone that

is excellent, impressive, or

outstanding.

81. (c) “put out” means to

extinguish (a fire, light, or

cigarette).

(a) put off – to postpone (Vkyuk)
(b) put in – to submit or install

(tek djuk ;k yxkuk)
(d) put on – to wear or stage

(iguuk@izLrqr djuk)
82. (d) no improvement

The verb “emphasised” is

not followed by any

preposition like on, over, or

upon when it takes a direct

object.

83. (b) Active Voice Structure:

Subject (A professional) +

helping verb (is) + verb-ing

(cutting) + object (his hair)

Passive Voice Structure:

Object (His hair) + helping

verb (is being) + past

participle (cut) + agent (by

a professional)

84. (b) Correct order is SPQR

S gives the main clause

(subject + verb): India’s

position is reflected...

P and Q explain what the

decisions are about

R is the target (object) of

“support to developing

countries”

85. (b) The correct spelling is:

inhabitants – which means

people or animals that live

in a particular place

(fuoklh)

86. (d) Squalid (xank vkSj cngky)
means extremely dirty and

unpleasant, often due to

poverty or neglect. Its

opposite would be Clean

(lkiQ) means free from dirt,

marks, or mess.

Contemporary (ledkyhu)
means belonging to the

same time period.

Bare (uaxk@[kkyh) means

lacking covering or

decoration.

87. (c) Enlightened (izcq¼) means

having a well-informed,

rational, and progressive

attitude. While,

Confounded (my>u esa Mkyus

o ky k) means confused,

puzzled, or lacking clarity

Civilised (lH;)  means

polite and socially

developed.

Educated (f'kf{kr) means

having received knowledge

or instruction.

Reasonable (rd Zl a xr)
means fair, sensible, or

logical.

88. (b) Condone (ekiQ djuk@utjvankt

djuk) means to accept or

forgive wrong behaviour,

often without explicitly

approving it.

Forbid (eu djuk) means to

order not to do something
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ANSWER KEY

1. (a)

2. (d)

3. (a)

4. (a)

5. (b)

6. (c)

7. (d)

8. (a)

9. (a)

10. (d)

11. (a)

12. (a)

13. (a)

14. (b)

15. (a)

16. (d)

17. (c)

18. (a)

19. (d)

20. (d)

21. (a)

22. (c)

23. (a)

24. (b)

25. (c)

26. (a)

27. (b)

28. (d)

29. (d)

30. (c)

31. (c)

32. (c)

33. (a)

34. (d)

35. (b)

36. (a)

37. (c)

38. (b)

39. (b)

40. (c)

41. (a)

42. (c)

43. (c)

44. (a)

45. (b)

46. (a)

47. (b)

48. (c)

49. (c)

50. (a)

51. (b)

52. (b)

53. (d)

54. (b)

55. (c)

56. (d)

57. (c)

58. (a)

59. (b)

60. (b)

61. (a)

62. (b)

63. (b)

64. (a)

65. (d)

66. (a)

67. (b)

68. (c)

69. (b)

70. (a)

71. (d)

72. (d)

73. (b)

74. (d)

75. (c)

76. (d)

77. (b)

78. (d)

79. (b)

80. (c)

81. (c)

82. (d)

83. (b)

84. (b)

85. (b)

86. (d)

87. (c)

88. (b)

89. (b)

90. (c)

91. (c)

92. (c)

93. (b)

94. (b)

95. (a)

96. (c)

97. (b)

98. (a)

99. (c)

100.(a)

Prevent (jksduk) means to

stop something from

happening.

Impose (Fkksiuk) means to

force something on others.

89. (b) Protract ([khapuk@yack djuk)
means to extend the

duration of something,

especially unnecessarily.

Similarly, Prolong (y ack

dju k)  means to make

something last longer

90. (c) The correct order is: QSRP

Q introduces the topic:

America’s physiography is

S describes it: dominated

by the Andes Mountains

R adds location: in the west

P adds another feature: the

Amazon Basin in the

central north

91. (c) The correct spelling is:
besieged – which means to
surround a place with

armed forces (?ksjk Mkyuk)
92. (c) The calm before the storm

(rwiQku ls igys dh 'kkafr) means

a peaceful time just before

something intense or
chaotic happens.
In the sentence, the
“property dispute” is
expected to be tense or
unpleasant, so the speaker
is enjoying the quiet
moment before it starts.

93. (b) Integrity (bZekunkjh@uSfrdrk)
means the quality of being
honest and having strong
moral principles.

Insatiability (vr̀Irrk) means

never being satisfied

Insidiousness (diViw.k Zrk)
means deceitfulness in a
gradual way

Intellect (cqf¼eÙkk) means the

ability to think and
understand

94. (b) Had (Fkk@gqbZ Fkh) is the simple

past tense form of “have”
and is used for a completed
action in the past.

95. (a) be taken in more than
96. (c)
97. (b)
98. (a)
99. (c)

100.(a)


